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1. (3 pts) [L2]  (Choose all of the correct answers.)  Once a vendor begins development and implementation of a new system, performance evaluation is used to determine

	
a.  The best hardware organization.

	
b.  The nature of the applications that will run on the system.

	
c.  The resource management strategies that should be implemented in the operating system.


2. (3 pts) [L1]  List the names of 3 measurement tools:  (Measures of Effectiveness)
	
a. throughput,  turnaround time,  reliability

	
b. capacity,  resource utilization

	
c. response time,  availability


3. (4 pts) [L1]  (Choose the correct answer.)  MTBF stands for

	
a. Mean Time Between Failure

	
b. Main Task Binding Function

	
c.  Micro Time Bounded Function

	
d.  Master TaBle File

	
e. More Time Before Finals

	
f.  None of the other choices


4. (3 pts) [L1]  (Choose the correct answer.)  MTTR stands for

	
a.  More Terminals To Rotate

	
b.  Mean Time To Repair

	
c.  Multiple Timed Task Routing

	
d.  Mean Table Thrashing Region

	
e.  Multiple Table Thrashing Region

	
f.  A chicken in every pot.


5. (4 pts) [L2]  (Choose the correct answer.)  A system with an MTBF of 22 hours is

	
a.  Better than a system with an MTBF of 20 hours

	
b.  Worse than a system with an MTBF of 20 hours


6. (3 pts) [L2]   (Choose the correct answer.)  A factor concerning availability of a computer system in Arizona (open from 9AM to 5PM) to people from New York is

	
a.  Distance

	
b.  Difference in time zones


7. (4 pts) [L2]   (Select all the correct answers.)  What performance measures will be of greatest interest to an interactive user?

	
a.  Turnaround time

	
b.  Response time

	
c.  Throughput

	
d.  System reaction time


8. (4 pts) [L1]   (Select the correct answer.)  The mechanism for making information about the current state of the system available for managing entering requests is called (a):

	
a.  Bottleneck

	
b.  Positive feedback

	
c.  Feedback loop

	
d.  None of the above


9. (3 pts) [L1] (Fill in the blank.)  [Both blanks use the same word.]

Measurements are made in variety of ways. Some use production programs that are used extensively by the users of the system, and they are run with different configurations of CPUs, operating systems, and other components. The results are called

__benchmarks____________ .  These are useful when comparing systems that are going through extensive changes. 

__benchmarks  _____ ______ are often used by vendors to demonstrate to prospective clients the specific advantages of a new CPU, operating system, complier or piece of hardware. 

10. (3 pts) [L1]  (Choose the correct answer.)  The collection and analysis of information regarding system performance for existing systems is called

	
a.  Performance monitoring

	
b.  Simulation

	
c.  Synthetic programs

	
d.  Analytic models


11. (4 pts) [L1] List at least four items that can be used for accounting purposes. 

	
a.  Total amount of time,  Time spent waiting for I/O completion,  Number of page fault

	
b.  CPU time,  Secondary storage used the billing period,  Number of input records read

	
c.  Main memory usage,  Use of system software,  Number of output records printed

	
d.  Secondary storage used during program execution,  Number of I/O operations


12. (3 pts) [L1]  (Select all the correct answers.)  Physical security deals with

	
a.  Cryptanalysis

	
b.  Protection against natural disasters.  

	
c   Protection against intruders


13. (3 pts) [L1]  (Select the correct answer.)  If a program generates incorrect output that will later be used as input by another program, we have

	
a.  Problems with the hardware

	
b.  Problems with data integrity

	
c.  Problems with the operating system


14. (3 pts) [L1]  (Select the correct answer.)  Which assault is a destructive program with a time delay?

	
a.  Time Bomb
	
b.  Worm
	
c.  Trojan Horse
	
d.  Logic Bomb


15. (3 pts) [L1]  (Select all the correct answers)  Encryption guards against the theft of

	
a.  Data

	
b.  Crypts

	
c.  Magnetic tapes


16. (3 pts) [L1]  (Select the correct answer.)   A component of MS-DOS contains device drivers that control the flow of data to and from each device except the disk drives. It receives status information about success or failure of each I/O operation and passes it on to the processor.  Which component is it?

	
a.  Hardware
	
b.  BIOS
	
c.  DOS Kernel
	
d.  Command Processor


17. (3 pts) [L1]  (Mark all the correct choices.)  DOS BOOT

	
a.   Is a World War Two German submarine.

	
b.  Is a part of BIOS

	
c.  Is made from polyvinylflouride.

	
d.  Stored in ROM

	
e.  Reads DOS from disk into RAM


18.  (3 pts) [L1]  (Select the correct answer.)  MS-DOS was written in reentrant code. 

	
a.  True
	
b.  False


19.  (3 pts) [L1]  (Select the correct answer.)  What MS-DOS feature gives programmers the ability to save all information about a parent program that will allow its proper restart after its child program has finished?

	
a.  multiprogramming
	
b.  reentrant code
	
c.  multitasking
	
d.  interrupt handlers


20. (4 pts) [L1]  (Select the correct answer.)  Interrupt handlers are a crucial part of the system. Which type handles division by zero?

	
a.  External hardware interrupt

	
b.  Internal hardware interrupt

	
c.  Software interrupt


21. (3 pts)  [L1]  (Select the correct answer.)  Which of the following is a valid DOS filename? 

	
a.  8/3.doc
	
b.  Chapter Test.doc
	
c.  *.document
	
d.  Chaptest.doc


22.  (3 pts) [L1]  (Select the correct answer.)  Which of the following are NOT one of the three special areas on a disk created by MS-DOS FORMAT?  

	
a.  boot record
	
b.  root directory
	
c.  FAT
	
d.  file directory


23. (4 pts) [L1]  (Choose all the correct statements.)  A  .BAT file

	
a.  Is similar to a script file in UNIX.

	
b.  Is used to run a sequence of programs without intervention.

	
c.  Is a manual batch mode job scheduler.

	
d.  Redirects the command line interface input from the standard input device to a file.

	
e.  Has information about autos for executives in AUTOEXEC.BAT

	
f.  Is good for giving winged critters a manicure.

	
g.  Uses sonar for storing data.


24. (4 pts) [L1]  (Choose all the correct statements.)  Redirection

	
a.  Is used to redirect the standard output device to the standard input of another device.

	
b.  Is used to redirect the standard output device to a file

	
c.  Is used to redirect the standard input device to a file

	
d.  Is used to substitute another file for input in place of the standard input device

	
e.  Is used to substitute another file for output in place of the standard output device

	
f.  Uses the symbol >

	
g.  Uses the symbol <

	
h.  Uses the symbol >>

	
i.  Uses the symbol <<


25. (4 pts) [L1]  (Choose all the correct statements.)  A DOS filter

	
a.  example is the MORE command.

	
b.  example is the CD command.

	
c.  example is the DIR command.

	
d.  example is the SORT command.

	
e.  Is a utility program that takes input from the standard input device and sends output to the standard output device.

	
f.  Redirects the standard input device to a utility program.

	
g.  Redirects the output of a utility program to a file rather than the standard output device.

	
h.  Cleans air in a Dirty Old System (DOS)


26. (4 pts) [L1]  (Choose all the correct statements.)  A DOS pipe

	
a.  is symbolized by the vertical bar, |

	
b.  example is the MORE command.

	c.  causes the standard output of one command to be the standard input of another command.

	
d.  redirects the output of a command from the standard output device to a user’s file.

	
e.  redirects the standard input device for a command input to a user’s file.

	f.  is similar to a UNIX pipe.

	
g.  can be used in batch files.

	
h.  is about 3 bits in diameter.

	
i.  has to be cleaned by a DOS filter.


27. (4pts) [L3]  (Choose the correct answer.)  Let

	Command
	Action

	DAYTIME
	Display current date and time

	DEFAULT
	Display default device and directory string

	DEVICES
	Show status of devices in the system

	PROCESS
	Display status of the user's process

	STATUS
	Show status of the user's program (image)

	SYSTEM
	Show status of all processes in the system

	TERMINAL
	Display characteristics about a terminal


a.  A person wishing to know if tape drives are busy would type:

	
a.  default
	
b.  devices
	
c.  process
	
d.  status
	
e.  system


b.  A person wishing to know how many processes are running on a system would type:

	
a.  default
	
b.  devices
	
c.  process
	
d.  status
	
e.  system


28. (4 pts) [L3]  (Select the correct answer.)  Let 

	System up
	2 hours

	System down
	1 hour

	System up
	10 hours

	System down
	2 hours

	System up
	6 hours

	System down
	1 hour


a.  The MTBF is how many hours?  Average of System up:
	
a.  1.333
	
b.  2
	
c.  6
	
d.  10
	
e.  18
	
f.  None of the other choices


b.  The MTTR is how many hours?  Average of System down:

	
a.  0.75
	
b.  1
	
c.  1.333
	
d.  2
	
e.  4
	
f.  None of the other choices


29. (4 pts) [L3]  (Fill in the blank.)  How many clusters does the file EXAMPLE.DOC use?  

_______7_______________.  It uses clusters 13, 14, 15, 16, 18, 19, and 23.
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